N = 0l & At & M A

20| = e

N
(@)
N
(«)
[im
H
I
oY
foh
e
=z
ol
x
0

AN seIIsHE

HH: 5E SN (SPHSLN/5Y - 55)
Sl SEXNEIIE %5 QL AT (B9 ®R)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
=90l & M 7,241,396 6,174,490 1,066,906
2 1,016,077 783,520 232,557
2 150,000 150,000 0
| 21,700 0 21,700
= 464,486 298,351 166, 135
2 5,589,133 4,942,619 646,514
S& NSH(SYHYSM/5Y - &) 2,477,232 1,888,997 588,235
2 396,127 163,570 232,557
s 150,000 150,000 0
= 179,286 104,551 74,735
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2 589,944 558,783 31,161
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201 2Ler2 A H| 146,042 138,642 7,400
02 232l 117,942 110,542 7,400
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405 THAHH St 2,000 0 2,000
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SENCA & 39,380 25,866 13,514
101 21248 24,740 14,226 10,514
04 JAHBENSE S 24,740 14,226 10,514
ONSYSHIMUIALE o
B 68,7202 x9F #402 24,740 14,226 10,514
303 T3 3,000 0 3,000
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020198 SEXNSAY SSEI 24013 Ay
= 3,000, 0002 3,000 0 3,000
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101 21248l 8,247 0 8,247
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68, 72021 +22 +602 8,247 0 8,247
1,255,078 712,964 542,114
2 360,107 127,550 232,557
< 134,067 61,500 72,567
2 760,904 523,914 236,990




2N
X ZH -
L= B

el

SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
ZAX LBIIAE AL 200,000 0 200,000
2 100,000 0 100,000
< 20,000 0 20,000
2 80,000 0 80,000
405 THaHE S bl 200,000 0 200,000
2 100,000 0 100,000
= 20,000 0 20,000
2 80,000 0 80,000
01 ML SEHSY] 200,000 0 200,000
OYU=IIAH PY(SLBEAH 9 75)
25,000, 0002 *8CH 200,000 0 200,000
2 100,000 0 100,000
< 20,000 0 20,000
2 80,000 0 80,000
=IBIE SIFSnE 20,000 20,000 0
2 4,750 4,750 0
2 15,250 15,250 0
206 TH 2 bl 4,510 5,000 £490
= 602 602 0
2 3,908 4,398 £490
01 2 bl 4,510 5,000 2490
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2 502 502 0
2 2,008 2,498 A 490
301 LB 8,430 7,940 490
2 619 619 0
2 7,811 7,321 490
12 JIEH2 &3 4,430 3,940 490
OLAHI 13 4,430 3,940 490
e AE 250,008 +113] 2,750 2,500 250
2 349 349 0
2 2,401 2,151 250
| 24 120,0002 *143] 1,680 1,440 240
= 170 170 0
2 1,510 1,270 240
ReiRR 1M SAZY UWEND HY A 0 50,000 £50,000
= 0 15,000 A 15,000
2 0 35,000 35,000
402 DI X2 0] & 0 50,000 A50,000
= 0 15,000 A15,000
2 0 35,000 35,000
02 QIZR AL (01 FH TR ) 0 50,000 50,000
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206 M= 4l 0 1,200 A 1,200
01 M= 4l 0 1,200 A 1,200
OZEs A ¥ads usMHE ZEF 0 0 900 A 900
OZEs oiCiof, & 25 =& Z2F 0& 0 300 A 300
405 Xt&tE SHI 450 0 450
01 AL ESH SHI 450 0 450
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das S NBAEY 34,000 34,000 0
= 17,000 17,000 0
[a 17,000 17,000 0
201 ¢er24| 6,650 8,750 A 2,100
= 3,325 4,375 A 1,050
= 3,325 4,375 A 1,050
01 At22t2l bl 6,650 8,750 A2,100
OZars W=xs 28 =3 7¢
Z & 15,800& +50H 790 1,090 A 300
= 395 545 A 150
= 395 545 A 150
OZars s MRES 7¢ 23 0¥ 0 1,800 A 1,800
= 0 900 A 900
a 0 900 A 900
206 M= Hl 7,750 8,750 A 1,000
= 3,875 4,375 A 500
i 3,875 4,375 A 500
01 M= dl 7,750 8,750 A 1,000
OZas HoicH B 2E M=l
Z & 200,000 *5& 1,000 2,000 A 1,000
= 500 1,000 A 500
[ia 500 1,000 A 500
301 LEBA S 18,700 15,600 3,100
= 9,350 7,800 1,550
a 9,350 7,800 1,550
09 HALAHIXI &3 6,800 9,800 A 3,000
OZLs MEs2UME e N
2 & 20,0002 *50H x23] 2,000 5,000 A 3,000
= 1,000 2,500 A 1,500
[ia 1,000 2,500 A 1,500
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= 2,500 1,250 1,250
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) 2T 120,008 8% 53] 4,800 1,200 3,600
= 2,400 600 1,800
2 2,400 600 1,800
MOS0l e-BIXLIA ASEHE X 10,000 10,000 0
2 5,000 5,000 0
2 5,000 5,000 0
201 YEr2 Y| 4,120 2,920 1,200
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01 MZHl 0 1,200 A1,200
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2 0 600 600
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< 12,000 0 12,000
2 28,000 0 28,000
201 B2y 3,710 0 3,710
< 1,113 0 1,113
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01 At 2H 2l 3,710 0 3,710
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< 750 0 750
2 1,750 0 1,750
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2 700 0 700
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-2 250,000& 1 *32 750 0 750
=) 210 0 210
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< 404 0 404
s 1,036 0 1,036
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4,900,000 * 14! 4,900 0 4,900
301 LEEH S 0 4,900 A 4,900
12 JIE 24 = 4,900 A 4,900
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-24, 9% S HIE 10,0002 *507H 500 0 500
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SENCRE 84 17,220 20,020 A2,800

301 LB BHZ 8,980 11,780 A2,800

09 BAAHIXI® 2 8,560 11,360 A2,800
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2y 08 0 2,800 A2,800

SENCRE USLSEX 25,800 27,180 A1,380

< 3,870 4,077 A 207

2 21,930 23,103 A1,173
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= 728 0 728
2 2,912 0 2,912
MEHASE T4 17,430 23,830 6,400
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09 BAMAHI X2 2 2,100 8,500 6,400
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= 6,300 6,000 300
402 SI2TH2 0| & 10,500 10,500 0
< 4,200 4,500 A300
= 6.300 6,000 300
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< 4,200 4,500 A 300
= 6,300 6,000 300
Y=4-H3 =YIls H2HMB X 6.900 6,000 900
= 1,035 900 135
z 5,865 5,100 765
201 Yot | 6.900 6,000 900
< 1,035 900 135
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01 At 22IH| 6,900 6,000 900
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01 AbR I 70 70 0
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301 LB A 4,320 4,320 0
= 972 2,160 ~1,188
2 3,348 2,160 1,188
Y EENEERT] 4,320 4,320 0
OHE S0l HESol
2E 1,800,0002 *3% *80% 4,320 4,320 0
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2 15,000 12,500 2,500
201 Lyt FH| 8,370 8,370 0
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= 1,080 1,350 A270
2 1,620 1,350 270
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AE 16,0002 «8% * 143 1,792 1,792 0
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2 1,075 896 179
ORSDM ME L 2¢
2 14, 1402 +40% x5 5 2,828 2,828 0
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2 1,697 1,414 283
O& 49 R 2E 70,0002 *157H 1,050 1,050 0
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= 630 525 105
202 01t 5,400 5,400 0
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® 3,240 2,700 540
NIERCEL 5,400 5,400 0
SaE=2 #x 289 ol
2E 20,0002 *9 *30 5,400 5,400 0
= 2,160 2,700 A540
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= 4,492 5,615 A1,123
= 6,738 5,615 1,123
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2 7,000 0 7,000

201 Y8t Y| 2,000 0 2,000
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= 9,000 12,000 A3,000
2 33,000 30,000 3,000
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= 0 6,000 6,000
2 0 15,000 A15,000
402 212t T2 0| & 0 21,000 A21,000
= 0 6,000 6,000
2 0 15,000 A15,000
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OZUSHE 2422 Y B2 Al
233 0¥ 0 21,000 £21,000
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2 103,000 103,000 0
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= 0 6,000 6,000
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= 165 0 165
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< 5,448 0 5,448

2 12,712 0 12,712
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O8zg P 25,0008 53 +404 5,000 0 5,000

= 1,500 0 1,500

2 3,500 0 3,500

O+2 Y 100, 00021 *425 + 104 4,000 0 4,000

< 1,200 0 1,200

2 2,800 0 2,800
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-HAE =23
7202 552 %30 10,308 0 10,308
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